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Questions

What is Profit?
Y T2

(A) Excess of Revenue/Income over Expenditure

P T I ¥ 31fde UTe IoRa/ 3

(B) Difference between Current Assets and Current Liabilities

A1 uiuTal SR a1 Saarstt & o ofck

(C) Excess Cash
AP TH!

(D) Excess of Expenditure over Revenue

fopu T T @ 3if¥es o3

Manufacturing Account is prepared by :

fafrafor Trar P IR FRaATR

(A) Firm involved in production activity
e foharebary # Her wH

(B) Firm providing Services

TG Ye B arelt BH

(C) Firm involved in productlon act1v1ty and Firm providing Services

I foharehey & Tay A 3R JdTE USH P drelt BH

(D) None of these

T A DI T

Which of the following statement is NOT TRUE?

fofafea 7 ¥ o a1 Sy I T8 8

(A) The Statutory form of Balance Sheet is set out in Part I, Schedule VI of the Companies Act, 1956.

ite &1 it wid, U 1, Hust sy, 1956%W6ﬁﬁﬂfﬁﬁmw%

(B) According to Section 216 of the Companies Act, P&L Account shall be treated as Annexure to the Balance

Sheet

HO SHTATH, U TS TA WId B URT 216 & AR Y A1 e & SIaY & =0 H HHT ST

(C) The preparation of Profit and Loss Account and the Balance Sheet of a Joint Stock Company should comply
the re;%%rements under Section 210 of the Companies Act and requirements of Part I of Schedule VI.

B W1 BT IR 3R U Ygad Tieb U1 B Soi e Bl Ut HffFad & urT 210 3R
Ws%mnﬁ@n&mﬁ%mmmm@m

(D) TDS is not to be shown in the Balance Sheet.

AEivy & doig e § 78 femmr g

How will you deal with "Dividend Paid" if there is no provision?

I HIS UG el § Y 3T AR BT YIIaH" § Hdl fFAuear

(A) Debit P&L Account
sfoe dt ts Ta @

(B) Debit P&L Appropriation Account.

Sfge ot ts va Twfdisiem @rdn

(C) Credit P&L Account
shige Ut TS Ud @rdl

(D) Show in the Balance Sheet

o9 e 7 femms

Answer
Key

(4)

(A)

D)

®)
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Treatment for "outstanding Interest on Debentures" in Company Final Accounts will be:
SR & Siferd @Il # TSR W g e & g STAR g

(A) Debit P&L Account
Sfe i ¢s Ta @rar

(B) Show it under "Secured Loans" in Balance Sheet

oo 2fte  gRIEE B & ded 34 fe@my

(C) Both, Debit P&L Account and Show it under "Secured Loans" in Balance Sheet

3, 3fde Ot Us ue @ 3R So Site F qRfé| B & ded 39 feamy
(D) None of these

EREREZ R

What is the treatment for "Accrued Interest on Investments" in Company Final Accounts?
HUN o Sifcm @ral 7 IR WR Sifoid sarer & o o e 82

(A) Debit P&L Appropriation Account.

Sfge o ts ua e Tt

(B) Credit P&L Account
IS il U8 T @ra

(C) Show it under "Current Assets" in Balance Sheet

939 3fie # 39 "gaAH Ui & dgd feans

(D) Both, Credit P&L Account and Show it under "Current Assets" in Balance Sheet

A1, pfe Ot U Tal Wal AR 4o e 7 38 "gduH TuR P qed fE

How will you treat "Wages includes installation charges of Machines" in the Balance Sheet?
o e # oy HRAAT & ST TR & Hoigdl " 1 Bl A BN

(A) Show it on the Liabilities side of the Balance Sheet

o e & SaTREl & e B 39 fawmg

(B) Add to the respective Asset on the Assets side

Hufxy o ual H Haferd Jufy # oig

(C) Debit P&L Appropriation Account

Sfge o ts ua amezE Tt

(D) Debit P&L Account
sfe di ¢S v @rar

M.D. is entitled to a commission of 10% of Net Profit before taxation and commission. How will you treat in
Profit and Loss Account of a Joint Stock Company?

FRIYH 3R FHRE F U THS! U Y TH BT 10% HHIRA & FHER 8 | Ggad Wb Hu-1 & a1y 3R
B WA & 317 Y TaeR B4

(A) Debit P&L Account
Sfe di ¢s Ta @rar

(B) Credit P&L Account
i< Ut TS Ta Tl

(C) Debit P&L Appropriation Account
U1 TS T SUITTR @l

(D) Credit P&L Appropriation Account
iSe Ut TS el SUIUIeR @rdl

The surplus amount (fund) in P&L Appropriation Account is to be transferred to the Balance Sheet and shown on
the liabilities side of the Balance Sheet under the Heading:

i ts Ta & forg Wm(mﬁmmﬁwmmw%mW$mmmﬁ
eI &t feamar T 8-

(A) Reserves and Surplus

©

D)

®)

(4)

(A)
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(B) Share Capital

(C) Secured loans

GRI&T BT

(D) Current Liabilities and Provision
3R graT

Corporate Dividend Tax is shown in:

FriRe f$fass ¢o i & fawm o 6

(A) P&L Appropriation Account
Ul TS T SR T/ ot

(B) P&L Account
dl TS T U/ |t

(C) Trading Account

cfETu.

(D) Balance Sheet

How will you treat the following? A public limited company sold an investment for Rs.2,50,000 which was

acquired 6 years ago at a cost of Rs.70,000.

3y Faffed $Y sIdeR 32 T Tdwi-e fAfies Hu-t A 2,50,000 T H T 3= 91 57 6 I

TUgd 70,000 3T &1 ANTT I SRS favam Tam T

(A) Should be shown as an Asset Rs.1,80,000 in Balance Sheet

T UREURY & =0 H fezaman ST =1RT 1,80,000 S e #

(B) Rs.1,80,000 should be credited to P&L Appropriation Account.

1,80,000 TUT Tt TS T UMM TTd H SfHT b S AT

(C) Rs.1,80,000 should be shown separately in P&L Account.

1,80,000 ¥UT T U T WA H 3T ¥ feamy Sma |

(D) Rs.1,80,000 should be shown as a footnote in Balance Sheet.

1,80,000 308 93 e & T FeAle & =9 H fearar S =g

The following are the extracts from the Trial Balance of PO Ltd. on 31.3.2017:

31.3.2017 # PO WTRES & o 908 ¥ WrAlarad sed Mae a0 §

Debit Credit
(inRs.) (inRs.)
Prowisions for Tax [2015-16) 4,00,000
Advance Tax Paid for 2015-16 3,60,000
Advance Tax Paid for 2016-17 2,00,000
Tax deducted at source 2016-17 20,000
P &L A/c(2015-16) 400,000

The assessment for the year 2015-16 was finalised during the year 2016-17. The Total Tax
ligbility for that year was fixed at Rs.4,40,0600. The net profit earned by the company during
2016-17 before tax amounts to R5.8,00,000. The companyis in 35% tax bracket {inclusive of any
surcharge and cess.) The amount to be carried forward to the Balance Sheet after preparing P&L

Appropriation Afc {2016-17) will be:

a9 2015-16 ¥ f@T 3Fas a¥ 201617 ¥ o 3w 9 @B 1 on 37 af &1
ol 1 &AT 4,40,000 T G F A5 41| 2016-17 F NI F gANT HAT UE
T 200,000 FUH W F Tger FUET 25% F Fec (ReT o 3OO AT IO
aEE &) F ¥ P L I @ (2016-17) UK A 3 A1g dod o # AT

o T FT T e g

(A) Rs.8,20,000

(A)

©

D)
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(B) Rs.8,40,000
(C) Rs.8,00,000

(D) Rs.8,80,000

Which of the following item results in ‘cash inflow’?

9 ¥ I 19 91 4 &1 uRume T d) vare' 82

(A) Cash payments for operating expenses

g & fod e YT

(B) Tax payments

CRRUGIE]

(C) Cash payments for salaries

3 & g T a YITdH

(D) Cash from credit customers

HiST UgD! A Tha

Compute cash outflow on business expenses from the following details {extract from P&L

Account

Frfaiag AT § TG0 @ W %G gigaig &4, o Ud g @ 3 HEe

in Rs.
Expenses occurred during the year 2016 1,00,000
Opening cutstanding expenses 12,000
Closing outstanding expenses 20,000
Opening pre-paid expenses 16,000
Closing pre-paid expenses 10,000

(A) Rs.86,000
(B) Rs.88,000
(C) Rs.90,000

(D) Rs.72,000

Calculate Net cash outflow from operating activities from the following P &L Account by indirect

method
Fucmey S canT Feaeied pPaL @y § AT AaREt & ag A awas
T IO T
Particulars in Rs. Particulars in Rs.
Salary 40,000 Gross Profit 1,20,000
Rent 30,000 Profit on sale of Building 24,000
Depreciation 6,000 |.T. Refund 5,000
Loss onsale of machinery 4,000
Goodwill Written off 10,000
Proposed dividend 20,000
Provision for Tax 10,000
Met Profit 30,000
1,50.000 1,50.000
(A) Rs.70,000
(B) Rs.56,000
(C) Rs.50,000

(D) Rs.54,000

D)

(A)

®)



202

202

202

202

202

166

167

168

169

170

Find the incorrect accounting equation

TTTd Ol GHIHRUT BT UdT T

(A) Assets = liabilities + capital
o v -

(B) Capital = assets — liabilities

it = Hufi - 3Ty

(C) Liabilities = asset — capital
SATg = uREuf - goft
(D) Liability = assets+ capital

=uf +

Profit and loss account is also called

Y 3R B WA Y 4 el ST @

(A) Fund flow statement

g Yarg &1 faarur

(B) Income statement
31y faaRur

(C) Cash flow statement
BEZARCIRIECRY

(D) None of these

EREREZ ]

Business transactions are recorded
HTUR A-Ie ol [T o1 &:

(A) In chronological order

(B) Monthly

NG

(C) Weekly

(D) Yearly
ClRE

Sales day book is maintained for

e oo qRaiep fob & R &S o &:

(A) Recording all sales of the firm

B & T fopt Repifen & for

(B) Recording credit sales

13 fog

(C) Recording payment of debtors

F YT Bt RepifaT & fow

(D) Recording transaction of debtors.

ATeR & de Reprig & forg

Which one is true in double accounting system

ST H A DI SId AE Yurel & 9 2

(A) Each transaction should be entered into two Account ledger

U A3 41 @Td AoR H gt T S =1fey

(B) Each transaction involves two partied.

U eTe H a1 Ui e 8

D)

®)

(A)

(A)

D)



202

202

202

202

171

172

173

174

(C) Each transaction involves a debit entry

TS -3 & Sfe th i §
(D) Total debit should be equal to total credit.

Pd S ol hise b SRIaR g1 =MMRY

Which of the following is NOT the main objective of accounting?

fFrafeied & 3 & &1 e &1 787 59 781 ¢:

(A) Systematic recording of transactions

(B) Ascertaining profit or loss
STH 1§11 Tl ST

(C) Ascertaining financial position

A Bt afRyd RepiTeT ifAfaa @y a1 g1+ ifAfaa foxita fRufa &1 uar evmn

(D) Solving tax disputes with tax authorities

HR SHABTRAT & 1Y B [aaTG JaAsmHT

Adjusted Purchase is:
T %9 B 5

(A) Opening Stock + Purchase - Closing Stock
RIND Th+hy—3id €ih

(B) Purchase — Purchase Return
ShU—5hY ITuR!

(C) Closing Stock + Purchase — Opening Stock
3fd Tih-+hd—3ARIND Ll
(D) None of these

EREREIEE ]

A company raises preferential share capital of Rs.5,00,000 by issue of 10% Preferential Shares of Rs.10 each,
issued at a discount of 10%. Cost of preference capital will be:

T HUAT 10 YT & 10% BT FT W 10% UBHRIE R AR] HIb 5 ARG B0 BT JHIRI WGR Yot IaTelt
8| o gott &t anTd f gt

(A) 9.09%
(B) 11.11%
(C) 9%

(D) 12%

From the following particulars whether the firm has surplus or deficiency of cash:

e BET & 3T W T BE & 9 69T £ a7 Jwmdr & & 2

MNormal Peak
Desired days of cash: 8 7
Average daily outflows 25,000 20,000
Actual Cash Balance 1,50,000 1,20,000

(A) Deficiency in cash during normal period

I 3Mafd & SR Fohd) § Bt

(B) Deficiency in cash during peak period

i 3fafdl I SR Fabet § Bt

(C) Deficiency in cash during normal period and Deficiency in cash during peak period

D)

A)

®)

©
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AT 3fafd & SR el H HH 3R Uics 3afd & SR el § Bt

(D) Surplus during normal and peak periods.

T 3R tiep 3fafd & SR Ry

On an average, accounts receivables are collected after 60 days, inventories have an average of 90 days and
accounts payable are paid 30 days after they arise. The firm spends a total of Rs.1,50,90,000 annually at a
constant rate. Ascertain the minimum amount of Cash to be maintained to meet payments as they become due,
assuming 360 days a year.

S, Tt Wferat T 60 3= 3 a1g Uanst o e B, avgelt &7 3id 90 fa § ofR < @t &l 3o+
¥ 30 f& a1E YT famam ST § | T FARAR @R OR WIAMT 1,50,90,000 $U3 W HRet 81 360 feAl & Th
T BT STH T §T YA & T8I & AW HH F HH -Adhe AT BT Y AT B

(A) Rs.50,03,000 (B)
(B) Rs.50,30,000
(C) Rs.53,00,000
(D) Rs.53,33,000

On an average, accounts receivables are collected after 60 days, inventories have an average of 90 days and
accounts payable are paid 30 days after they arise. The firm spends a total of Rs.1,50,90,000 annually at a
constant rate.Calculate the savings to be effected by reducing an average age of receiable to 50 days. The firm
earns 10% on investments.

3T, T Wferat &1 60 fa & STe U= T3 ST B, SRl &1 3id 90 3 § 3R 31 rdl Y Soq
¥ 30 fe a1E YT faam ST 8 1 T H AR R UR ITAMT 1,50,90,000 S0 Wd Hell § | RIFTART B &
fore sifieaw My &t UM B | 1S Hi HSH BT ST Y-

(A) Rs.42,319 ©
(B) Rs.42,913
(C)Rs.41,913

(D) Rs.41,319

A)

The following are the extracts fromthe Tnal Balance of PQLtd on31.3.2017:
3.3.2017 = Ty FEES F g &R ¥ e Tl Fee o E

Debit Credit

(InRs) (InRs)
Provisions for Tax(2013-16) - 4,00,000
Advance Tax Paidfor 2015-16 3.,60.,000
Advance TaxPaidfor2016-17 2,00,000
Tax deducted at sowurce 2016-17 20,000
P&L Afc(2015-16) 4,00,000

The assessment for the year 201 3-16 was finalised durmg the year 2016-17.

The Total Tax lahility forthatyearwas fixedatFs.4, 40,000, The net profit eamed by the
company during 2016-17 beforetax amowrts to Fs.2, 00,000, The companyisin 33%tax
bracket (nclusive of any surcharge and cess.)

Showhowthese items will appearin the Balance Sheetason31.3 20177

au 2015-16 & T Mo au 2016-17 & e 3ifgH o9 a7 7/@r o)

3 a9 T Fo T &FaT 440,000 T @ F A )

2016-17 % el &9+ 53T 9 & TEeATEd 98 BT 8,00,000 T FiEe 35%
T S (BT ofr 3EM AT 39 wiEa B) # 2

Tg I T 59 "ar @ 3132017 & i ofr # = Tmem o

(A)
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(Extracts) Balance Sheet as on 31.3.2017

Liabilities Assets
(in Rs.) (in Rs.)
P& L Appropriation Account 880,000 | Advance Tax paid 2.00.000
Provision for Tax 280,000 | TDS 20,000
B)
(Extracts) Balance Sheetas on 31.3.2017
Liabilities Assets
(in Rs.) (in Rs.)
P& L Appropniation Account 8.80,000 | Advance Tax paid 2.80.000
Advance Tax 2.00.000 | TDS 20,000
©
(Extracts) Balance Sheet as on 31.3.2017
Liabilities Assets
(in Rs.) (in Rs.)
Provision for Tax 2.80,000 | Advance Tax paid 2.00,000
TDS 20,000 | P& L Appropriation 8.80.000
Account
(D)
(Extracts) Balance Sheet as on 31.3 2017
Liabilities Assets
(in Rs.) (in Rs.)
P& L Appropriation Account 8.80,000 | Provision for Tax 2.80.000
Advance Tax paid 2.00,000
TDS 20,000

You are required to calculate the capital emploved from the following Balance Sheet:

IO FATET dem e § FEiEa 99 & e o 8

Liabilities Rs. | Assets
13% Pref. share capital 50,000 | Goodwill 15,000
Equity Share capital 1,350,000 | Land and Building plant 45,000
Reserves (including a 45,000 | Plant 75,000
profit of Rs.25,000 for
current year)
Workmen Compensation 30,000 | Current Assets W
g Investments W
To Depreciation Fund: Investments for W
Land and Building 15,000 e ok

lant 15,000 30,000
Debentures 45,000 | Preliminary expenses 5,000
Creditors 40,000

3.90,000 3.90,000

Use Assets side Approach.

aiEafcadl & geh TfSEeoT s 39T B

(A) Rs.2,50,000
(B) Rs.2,55,000
(C) Rs.2,65,000

(D) Rs.2,60,000

Fixed assets are depreciated over their useful life. Which of the following concepts favours this —

firaRs SraT RIRR uREufE! S10= ST Sita ¥ Yeagiid g § | Fafafed srauronsit # 8 &1F w159

%q&fﬁf%:

(A) Cost concept
ST B SHIYRUT

(B) Matching concept

®)

©
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(C) Going concern concept
W ddl pldl PRRIFR (TR hd-),

(D) Business entity concept
TR BT SHTURTMT

Amount spent on advertisement campaign whose benefits can be drawn in three years, to be treated as —

O Siftr W s &t TS A, et arH i 9t & 38T S JohdT 7, I8 HFT ST

(A) Capital expenditure
QG‘ Td g

202 180 (B) Revenue expenditure (©)
RIS g

(C) Deferred revenue expenditure
fyiid Yora @

(D) None of these

EREEEZ RG]

Aggregate of all debit and credit balances of a ledger is called —
& 961 o & Tt S SR HfeT Sdu & Tus P FeT oI 3 -

(A) Profit and loss account
ATH Td B1 @Il

202 181 (B) Trial balance (B)
MENERREEUCIR GRE R |

(C) Balance sheet

ESERIE

(D) Working capital summary
Goil IR

A company buys stationery products on credit basis. The entries will be —

T HUI g YR TR VYR b1 G @ded g1 ufafd g

(A) Cash Dr. To stationery credit

202 182 C
(B) Bank Dr. To creditors cr. ©

(C) Stationery A/c Dr. To creditors cr.
(D) Stationery A/c Dr. To Bank

Ashok is proprietor of ABC Trading. He paid Mr. Bose Rs. 5000/- from his personal bank account to settle some
loan of ABC Trading. The accounting entry will be —

33N ABC ST & AT § 1 38619 ABC ST & & BT HT FUeH HA & T 310 SAfarTd o Wil
I o I BT 5,000 FUU HT YA [T | gt Wiare ghft:

(A) Mr. Bose A/c Dr. To Capital A/c cr.
202 183 (A)

(B) Mr. Bose A/c Dr. To Bank A/c cr.

(C) Cash A/c Dr. To capital A/c cr.

(D) Bank A/c Dr. To debtors A/c cr.

202 184 ABC Traders pays a loan taken from Mr. Bose from company accounts through cheque. The entry in ABC (A)
Traders will be —
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186

187

188

ABC 54 $U & @l U < & H1egH 9 ot 919 3 forn a1 BT &l ¢ ABC ¢S d H ufaf g

(A) Mr. Bose (Loan A/c) Dr. To Bank A/c cr.
(B) Loan A/c Dr. To Loan Payment A/c cr.
(C) Cash Dr. To Bank A/c cr.

(D) Mr. Bose Dr. to Loan Payment A/c Cr.

When assets increase —
59 Huf & 9fS g § s

(A) Asset account is credited

T 3PS hige fpar S g

(B) Asset A/c is Debited (B)

e 3prde Sfge forar Srar

(C) Asset account is debited and credited

Te 3ipIde hige iR fye frar Sar 3

(D) None of these

ERLEEI RG]

Cash Down Payment 25%

Three annual instalment of Rs.1, 02, O'UD Rs.93, 000 and Rs.84, 000 commencing
from the end of the first vear;

Rate of interest to be charged by the vendor: 12% p.a.

The Cash Price of the asset sold under HP. System 1s:

Aag sTare (Cash Down Payment): 25%| 9u& a¥ & 3a & glet arelr

1,02,000 ®9=r 93,000 F92r 31 84,000 w9 $ir et aifie e @har

ST e I S R FT gt 12% i) R w7 geufa & e (©)
= ¢ dufy & Fe BEa d

(A) Rs.4,00,000

(B) Rs.3,98,000

(C) Rs.3,00,000

(D) Rs.2,07,000

Entrance Fees received during the year 2012-13 Rs.4,00,000. 60% of the entrance fees is to be capitalized.
Amount to be shown in I& E A/c for the year ended March 31, 2013 is:

Ty 2012-13 & GRT YT TA-J[eh 4,00 ooomélmwﬁw%tﬁﬁﬁmw%l 31 A/ 2013
B! T 99 & TN 31T Td g W (1& E A/c) § USRI & o areft 78

(A) Rs.2,40,000
©
(B) Rs.4,00,000

(C) Rs.1,60,000

(D) None of these

ERCREZ R

D)
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Particulars Rs.

Goods sent to Branch 12,00,000 (H.O. Cr.)

Goods received by Branch 11,770,000 (Branch Dr.)

Branch A/c 300,000 (Dr. In HO.)

HO Ale 200,000 (Cr. In Branch)
Amount to be debited to Cash in Transit A'c in the books of H.O. for reconciliation
will be:

famor T

AT T d=T I HA 12,00,000 (H.O. Cr.)

ATET SaHT 9ed Hlel 11,70,000 (Branch Dr.)

ArET Alc 3.00,000 (Dr. in H.O.)

H.O. Alc 2.00,000 (Cr. in Branch)

FATENS & B H.O. T afggt & Cash in Transit Alc & 2 &1 = ara
LURICIE

(A) Rs.30,000

(B) Rs.1,00,000

(C) Rs.1,30,000

(D) Rs.70,000

An amount of Rs.12,000 withdrawn by the owner for personal use was debited to Salaries. Which one of the
following will be the rectification entry?

AIfeTeh gRT 12000 FUT i AT o 7T F g 3mefd ot 718 5 3a71 # Sfve o mun) Fufafaa # 9
HIE TP YR ufafd g
(A)
Drawings Dr 12000
To Salaries a/c 12000

(B)
Salaries Dr 12000
To Cash 12000

©
Drawings Dr 12000
To Cash 12000

(D) None of these

T A DI T

What is the entry passed for Closing Stock when closing stock figure does not appear in trail balance?
9 3ifan Wie & 3iipg Tiemr AN 7 yefia T8 gid af sifad wie & i aRa uldfy w=n g -

@A)
Closing Stock A/c Dr
To Trading and P& L A/c

B)
Tradingand P & L A/c Dr
To Closing Stock

©

(A)

(4)
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192

193

194

Purchases Dr
To Closing Stock

(D) None of these

T A DI T

Which of the following is a Capital Expenditure —
frafafed & @ S geird T |

(A) Freight and cartage on the purchase of new machine

7% A B Eiie IR gars 3R A HIST

(B) Legal expenses in connection with defending a title to firm’s property (A)

% CIZCd B g & TaY B B @d

(C) Expenditure on painting of factory shed

DI GATg B TR M a1 @

(D) Wages paid to machine operator

TR ITeTen! B 3T forar ad=

On 1.1.2012, A Ltd has a stock of bottles valued at Rs.8000. On 1.7.2012, they purchased additional bottles
worth of Rs.5000. On Dec, 31, 2012 the entire stock of bottles was revalued at Rs.10,500. What is the amount of
depreciation?

A fifies & ura A7 1.1.2012 BT 8000 FUT Hed BT Siqal! &1 Wi g1 &A1 1.7.2012 B I=IH 5000
%H@%ﬁé{m@ﬂﬁml 31 fHaR 2012 1 Siddl BT P €idb 10,500 SUYT T 77| G b1
R

(A) Rs.2500 (A)
(B) Rs.4000
(C) Rs.3500
(D) Rs.1300

Which of the following is not a Real Account?

fafiad & @ ST ardfae @ el 82

(A) Outstanding rent A/c
3ad (FehTT) fomrar @rdr

(B) Investments A/c (A)
fAa=r e

(C) Cash A/c
ECIARCIGI

(D) Purchases A/c
oY grdl

Which one of the following Assets is not covered under Accounting Standard 6?

a8 Q S uREuR! &1 SRaie AM® 6 § GiRiied T8 fhar e :

(A) Live Stock-Cattle

e
(B) Furniture (A)

(C) Machinery
AR

(D) Building
g
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197

198

In case of Reducing Balance Method depreciation is calculated on

BT AV U & ey o g R gRepferd fopan S g

(A) W.D.V.

BRI Hed ugfd

(B) Original Cost — Depreciation
Hef AT —e™

(C) Market value

SR Hed

(D) Original Cost
He RTe

What is the meaning of Depreciable amount?
BRI AR 7 4 31 ©2

(A) Cost of Acquisition — Scrap Value
3 Pt ANTA—ThY G

(B) Market Value — Cost of Acquisition
TOR Jed—3f5H &1 arTd

(C) Cost of Acquisition — Market Value
3o BT ANTA— TR Hed

(D) None of these

T A DI T

In January 2011, a company acquired a mines at a cost of Rs. 2,50,000. The estimated reserve of minerals is
25,00,000 tonnes, of which 80% is expected to be realized. The first year’s raisings are 75,000 tonnes. What is
the book value of mines as on 31 Dec 2011 after charging depreciation under Depletion Unit method?

et 2011 B fE SH0= 7 2,50,000 FUT B ARG J Th W ot | WS BT AT HSR 25,00,000 T &
TR 80% TGS B BT WHTGAT 8 1 UUH I8 b1 ITfRdr 75,000 < § | 319 gfe ugha & sfarid g/ ool
P & 916 31 fgdsR, 2011 B WH Faeht @ra A fpat i grm:

(A) Rs.2,40,625
(B) Rs.2,50,625
(C) Rs.2,42,500

(D) Rs. 2,52,500

Acompany requires an initial investment of Rs.2,00,000. The estimated net cash flow after tax
but before depreciation is as follows:

T FO F 2,00,000 T F oRfIE B # smawmedr §1| W F 9% sgAtea
UGET ARG WaATE, ifde] HaHpaa ¥ Tgel aean §

Year |1 2 3 4 5 6 7 8 9 10
Met | 35,00 | 35,00 | 35,00 | 35,00 | 35,00 | 40,00 | 50,00 | 75,00 | 50,00 | 20,00
cash |0 0 o 1] 0 0] 4] o 0] 0
Infle

w (in

Rs.)

Using 10% as cost of capital compute (P.B.) Pay Back Period
oSt IO T A & T A (TR 10% T STET S e aul F ars s
F:

(A) 5.62 years
5.62 T

(B) 5 years
5

(C) 6 years

(4)

(A)

(4)

(4)
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(D) 5.51 years
5.51

A firm is evaluating a proposal which requires a cash outlay of Rs. 2,00,000 at present and of Rs. 1,00,000 at the
end of third year from now. It is expected to generate cash inflows of Rs. 1,00,000, Rs. 2,00,000 and Rs.

1,00,000, at the end of 1¢ year, ond year and 4th year respectively. Cost of capital : 10%. Computer Benefit Cost
Ratio:

T B Ueh UATd 1 HedlichT B3 8! ¢ Foreb forg add = # 2,00,000 343 b1 Febe UReT 32T § 3R
1,00,000 3T 3(d J NG I & 3fd T 3MaTH 81 3T 1,00,000 3T, 2,00,000 FTI 37R 1,00,000 T BT
m@aﬁgﬁmﬁﬁ?waﬁi 3id B AHE UaTg IUF B BI SHIIG 8 I1YSH & ART: 10% SR A1y
NI 3FUTd BRT:

(A)1.28
(B) 1.08
(©) 1.18

(D) 0.98

A Company has Rs.7 crore available for investment. After evaluation, the four investments
Projects (given below) have positive NPY. all the investments are divisible. To maximise NPV,
in which combination the projects can be selected:

TF FOA & 9 A & w7 s T s9eey §| e & A, 9]
fordrer ot & gwneAE wEdEr A= & o B vAdd = aftewan
F= ¥ v e dorsst & awer e o ger B

Project Initial investment NPV Pl
(In crore Rs.) (in crore Rs.)
X 3.00 0.60 1.20
X 2.00 0.50 1.25
Fi 2.50 1.50 1.60
W 6.00 1.80 1.30

(A) Project Z in full and Project W in part i.e. Rs.2.5 crore (Z) + Rs.4.5 crores out of 6 crores (W)
URASHT Z B! guf & TuT aRaeH T w & i3 & 31ufd 2.5 RIS 30 (2) + 6 IS U H 4.5 FRIS 3T

W)

(B) Project W in full and Project X in part

OREISHT W 1 gl & a1 aiasH T X & g o

(C) Project W in full and Project Y in part

RIS W T guf & qut aRae T Y & e |
(D) Project X, Y and Z in full and Project W in part

REISHT X, Y 3R z &1 ot & qur uRkaie T w & g

Which of the following statement is TRUE?

FofafRa AT P T HYTIEl &

(A) Financial Management deals with two major functions, namely, investment and financing decisions.

faira yeier &) T S § Geifdd &, srufd T ofR famaiyo & fofa

(B) EPS maximisation is the sole objective of financial management.

forita weieM 7 UHH SERI

(C) Agency problem occurs when the management tries to fulfil its own interests at the cost of the value of the
firm.

Tof &1 TR a9 gl § OIF UeHH H & G $1 HIAd R 304 W & Rl &l O HRA BT U FHjal §

(D) Profit maximisation and wealth maximisation are essentially the same thing.

Y HTYHTH 3R Y9 P HTYBTHBHRUN I T A T gl 91 2

Financial management is mainly concerned with:

©

)

©

®)
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foia veie e 0 @ Feifda @

(A) Arrangement of funds
Y DI FaRIT

(B) All aspects of acquiring and utilising means of financial resources for firm’s activities

[ & foru foxfia TRmert & A1em U1 v 3R TN & & Tt gt

(C) Efficient management of every business
R AU & HRIA Yae

(D) None of these

EREREZ RG]

ABC Limited has current sales of Rs.24 lakhs. The company is planning to introduce a cash discount policy of
“2/10 net 30”. As a result, the company expects average collection period to go down by 10 days and 75% of the
sales opt for the new cash discount policy. If the company’s required return on investment in receivables is 25%,
assess the Net Profit/Loss on such new introduction.

ABC fIfies &t g et 24 AR 0T €1 HU "2/10 A€ 30" B Fdhg Fe A U= HRA B ArSH] a1
gt 8| IRURGEY HU= Bl SiTd Tuig @ 3fafdy 10 fomt ao =i S &t 3 § 3R 75% faeht 78 Faet
e Hfa & forg ga 81 afe wifterat & e R o @t eiazae amowht 25% &, 39 oRE &1 71 dIoHT R Y&
Y / B1H PT e B

(A) Net Loss Rs.21,858 (A)
T BT Rs.21,858

(B) Net Profit Rs.21,858
R ATH Rs.21,858

(C) Net Loss Rs.14,000
T BT Rs. 14,000

(D) Net Profit Rs.36,858
R[& ATH Rs.36,858

Retained Earnings are significantly affected by the:
iR FHArS i 8 9 forad offde gwifda gt @ -

(A) Dividend policy of the company
Edl
(B) Risk involved (D)

(C) Interest rate
SN K

(D) All of these
Tt faspey Ot §

A)

X Led. Issues 4,00,000 shares of Rs.10 each at a premium of 20% (per share). The shares were payable
as follows:

e feffies 20 399 (i 9rn) & Gffes o 93 10 09 & 4,00,000 R ST T
1 W 59 UBR ET A

Rs. 2 on application

2 ¥ e |

Rs.5 on allotment {including premiumj
5 T9d HEeA W (dEEE d@ha)
5.5 on first and final call.

5 T9 Tgel T A Fer W

All the shares were applied for and allotted, All moneys were received with the exception of first and
final call on 10,000 shares which were for feited. 4,000 of these were re-issued as fully paid at Rs.&
per share. Calculate the amount to ke transferred to Capital Reserve Afc.

T e F AT e G ww Ai adfen e w9 & 10,000 dRAY OT
wrer AR AEH wia & IuEE & A ua fR aE, S A6 o o aE e e
¥ 4,000 H Ty & olr Fhar @, S @ gl @ 8 o9l wid 9T 9T B e 9 it
=g @y & oy g arelt afs & o w1

(A) Rs.12,000

(B) Rs.30,000
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(C) Rs.32,000

(D) Rs.20,000

In an organisation profit depends upon
T 1o & arH fpg m Rk sxarg

(A) Cost of production
JATG Bl B R

(B) Output quantity
S{I3cYc HIEAT

(C) Sales Revenue
IEARISES]

(D) All of these

T ey 91 &

Which one of the following method is not considered for reduction in cost of production?

IdTe B ArTd § St & forg Fafefad & @ o f fafy 7€t arh s 22

(A) Increase in output

IdeT o

(B) Reduction in rejections

Srdiopfa & Hot

(C) Maintaining maximum inventory level

SHIYBIH et TR THIT @
(D) Producing standardised product
IdTG] HT I

Break even analysis is based on the following assumptions

3% sa- fazaivur fFgferRad arars wR snutid @

(A) All fixed costs are fixed

¥t Pifya amrd RfRa 8 e §

(B) All variable costs are variable
T RBATARE

(C) Prices of input factors are not constant
$YC BREI S B FRR T8
(D) Volume of sales and volume of production are equal

fop} Y AT SR JaTe Bt {1 IHH Bl §

Degree of operating leverage depends on

SToRfET offavet 1 & P R et &

(A) Fixed operating cost
[SING]

(B) Operating break-even point
- CIE

(C) Sales variability
H

(D) Debt — equity ratio
BBl suTd

EBIT is actually

SIS (EBIT) IRAIH B :

D)

©

©

®)

A)
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(A) Operating profit
oy

(B) Net income

Y& 3T

(C) Earnings before taxes

& Y Ugel B
(D) Earnings before depreciation and tax

TeugTY 3R HR Y

If total cost of 100 units are Rs. 4000/- and the cost of 105 units are Rs. 4100/- then the increase in total cost of
Rs. 100/- is called

3R 100 IHTZA BT Fd AN 4000/- TTY § 3R 105 IHTZA BI & AN 4100/- IUA 8, A H Hrod o
100/- 393 P 3G Beard g

(A) Prime cost
U ANTd
(B)
(B) Marginal cost
RIEIGISIUG]

(C) Output cost
3{TI3cYc NI

(D) Variable overhead

Determine P/V Ratio if sales is Rs. 1,00,000/-, Fixed cost Rs. 60,000/- and loss Rs. 20,000/-
/4t argura Fuiia &% oR fawT 1,00,000/- 92 B, P TRTT 60,000/~ FTA § 3R 81 20,000/- T §

(A) 0.35

(B) 0.4 (B)

(C)0.25
(D) 0.33

Method of determining sales for a desired profit

gifesd oy & fore farept 1 ko = -t fafer -

(A) (Fixed Cost + Profit) / (P/V Ratio)
(% arTa + ey / (dt/ 4t srguTd)

(B) (Fixed Cost - Profit) / (P/V Ratio) (A)
(FT%d aRTd - w14y / (Gt / 9t SrguTa)

(C) (Fixed Cost + Profit) * (P/V Ratio)
(3 AT + am) * (@ & srguT)
(D) (Fixed Cost / Profit) / (P/V Ratio)
GIESEUGIAEDYAC A RRIS))

What will be the BEP if variable cost ratio is 60% and Fixed cost is Rs. 60,000/- (A)

BEP 1 Rt afe TR ANTA 3UTd 60% § 3R TRad-Ia dTd . 60,000/ &:

(A) Rs. 150000
(B) Rs. 200000
(C) Rs. 350000

(D) Rs. 40000
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Margin of safety is increased by

R& Ao # 9 g8 &

(A) Decrease in selling price

oY e 3 el

B) Defcrease in volume ©

A H HH

(C) Decrease in fixed and variable cost
URad-tg drTd § Bt

(D) All of these

ot fawred 981 €

Fixed cost Rs. 1,00,000/- selling price per unit Rs. 10/- variable cost per unit Rs. 6/-. If variable cost increases by
10%, the BEP will

aﬁ}@aa@rﬁrﬁﬁa 1,00,000/-, {3t Ufd 3BTS T 10/-, UTA SHTS TR AN 6/- B 1 3R TR Bl B 10% I¢ Sl &,
BEP —

(A) Increase

@A)
(B) Decrease
HH BRI

(C) No change

(D) Increase by 10%
10% S ST

Amount spent for increasing the earning capacity is called
PHHTS & ST & foIT T B 115 MR B HET ATl 8-

(A) Capital expenditure
oy

(B) Revenue expenditure B)
Rod g

(C) Deferred revenue expenditure
XoRd g

(D) Capital loss

ECIIE]

A)
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You are required to calculate the capital employed from the following Balance Sheet

HH e dow e & FEfEa 9o & 0T AT JRTE T

Liabilities Rs. | Assets Rs.

13%Pref.share capital 50,000 | Goodwill 15,000

Equity Share capital 1,50,000 | Land and Building plant 45,000

Reserves (includinga 45,000 | Plant 75,000

profit of Rs.25,000 for

currentyear)

Waorkmen Compensation 30,000 | Current Assets 2,00,000

Fund. _
Investments 35,000

To Depreciation Fund: Investments for 15,000

replacement of plant
Land and Building 15,000 3 B

Plant 15,000 30,000
Debentures 45,000 | Preliminary expenszes 5,000
Creditors 40,000

3,980,000 3,890,000

Calculate the Average capital employed

s e ger & o &=

(A) Rs.2,42,500
(B) Rs.2,50,000
(C) Rs.2,52,500

(D) Rs.2,30,000

Ideal debt-equity ratio preferred by bank-

(A)2:1
B)1:3
©)1:2
D)3:1

Determine sales if contribution is Rs. 2,10,000/- and P/V ratio is 30% -

faent fRuffea &% af aTer 2,10,000 ¥0A § SR Gt/ 3O 30% 8 -

(A) 70000
(B) 700000
(C) 63000
(D) 69000

Assets of a business can be classified as

forht soawmg ) ufeufat & arffed fear s awarg:

(A) Only fixed
Had FRR
(B) Only current

(C) Fixed and current

(4)

A)

©
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fRR 3R admH

(D) None of these

T A DI el

In the debt-equity ratio, equity refers to

HU-fHl urd H, 3t frg &l Weftfq srar g

(A) Ordinary share capital
HIYROT TR Yot

(B) Preference share capital
(C) Reserves

(D) Both ordinary and preference share capital

VRS Ltd. Issued a Prospectus inviting applications for 1,00,000 shares of As. 10 each. These shares were issued
at par on the following:

drymes @At & 10 =930 oo & 1,00,000 feRt & @ 3y SEET #9 e TF Iy
AT TFT| & AR AT & adEy Al T T

Rs.3  onapplication/ 3 94 MdEA W

Re.d onalletment/ 4 F9F HECs 9%

Re.2  onFirstcell/ 2 w0 THH FE W

Rs.l  OnFinalCall / 1 &9 3ffewr #fer
Applications were received for 1,20,000 shares. Allotments were made on the following basis:

1,20,000 9T % AT HIEEH WIS g e METETET A 9 T AT

0] To Applicants for 20,000 shares:  In Full
20,000 9wt & v 3mest = In Full

(0] To Applicants for 40,000 shares: 30,000 shares
40,000 fARY & faT MRS F1- 30,000 shares

(iii} To Applicants for 60,000 shares: 30,000 shares
60,000 N & oI smiSwl @ 20,000 sheres W w9y &7 TR & fEemw SHl o & 8

All excess amount paid on applications is to be adjusted against the amount due on allotment. The shares were
fully called and paid up except amounts of allotment, first and final call not paid by those who applied for 4,000
shares out of the group applying for 40,000 shares. Calculate amount received on allotment

T HTATFT T FT FHATAT AT T E| AT e, 99 M TS i & oEe
g & midr ar sty apmare R wam 40,000 det & v smdes s ot map & 4,000 denk
& AT A WO aTEt G AT AEE R T Hoe 9 Wrew Ofn # o w5

(A) Rs.4,00,000
(B) Rs.3,49,000
(C) Rs.3,40,000

(D) Rs.3,31,000

Classics Ltd. issued 4,000 9% Redeemable preference shares of Rs.100 each at par on 1.7.2010 redeemable at the
option of the company on or after 30th June 2016 partly or fully. Redemptions were made out of profits as
follows: (i) 600 shares on 30th June 2016 at par (ii) 800 shares on 31st December 2016 at 10% Premium (iii)
Remaining shares on 30th June 2017 at a Premium of 5% by making a fresh issue of 20,000 equity shares of
Rs.10 each at a premium of Rs.1 each.

On 30th June, 2017, the company also decided to capitalize 50% of the Capital Redemption Reserve for issuing
Bonus Shares of Rs.10 each fully paid at a premium of Rs.2.50 per share. Ascertain the Bonus amount.

AR fATHCS = HUT & faddhed TR 30 S 2016 BT M1RIH =0 I A1 T R F T dve o TRIGT o aral
1.7.2010 & SRTSR YA 100 TT & 4,000 9% RStHee Iaar R SIRT [T [Agifbd ary G-t 3 s
O RS (i) 600 shares on 30th June 2016 at par (ii) 800 shares on 31st December 2016 at 10% Premium (iii)
Remaining shares on 30th June 2017 at a Premium of 5% by making a fresh issue of 20,000 equity shares of
Rs.10 each at a premium of Rs.1 each.

(A) Rs. 1,20,000

(B) Rs. 80,000

(C) Rs. 1,00,000

(D) Rs. 60,000

©

D)

©
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Z Ltd. had 6% Rs.5,00,000 Debentures outstanding in its books. On 1 April 2016 it had Rs.2,00,000 balance in (D)
Debenture Sinking Fund Investment A/c represented by 8% investment (nominal value) Rs.2,50,000. On

December 2016, it sold Rs.50,000 9% investments at Rs.45,000 and with the amount on the same date purchased
Rs.50,000 own Debentures for immediate cancellation. Interest date is 31 March 2017 for own debentures as well

as for investments. Calculate the Profit on sale of investments.

7 fafies = 3ot geaes! o STt 6% 5,00,000 fETRT BT 21 1 30T 2016 B 5HD! fSa=R Rifd1 g
S-avere Ufeaferel # 2,00,000 ¥U @1 ] MR &t i 8% AT (AT G) 2,50,000 ¥U fGHsR 2016 F,
T 50,000 TTA H 50,000 9% A< Pt foeht B off 3R Teeb Tl Ig B B RIT 50,000 YA F1 T Bt
o @i 78 I aRRE Bt AR & WY | 31U feeR 3R o & fow surs faf¥r 31 arf 2017 81 FHaw
D1 foep! UR Y 1 70T B3

(A) Rs.3,500
(B) Rs.4,000
(C) Rs.2,500
(D) Rs.2,000

When the same set of books is continued, amounts realised from the proceeds of assets taken over by partner will
be distributed:

%ﬁﬁﬁwwﬁ%wﬁww%ﬁmm?ﬁﬂéuﬁﬁﬁ@fﬁmﬁwmmﬁm
SITUETT:

(A)1:1 (i.e. equal)
1:1(i.e. NA)
(B) final claim

3ifer erd

(C) profit sharing
o

®)

(D) capital

Which of the following statement is NOT TRUE?

i 8§ 4 S T pYT I e 8 -

(A) Basis of apportionment for Gross Profit/Loss is sales ratio/weighted sales ratio

THd A / g1 & o Sfere &1 3MuR faspt srgurd / 1Rk faest srura 8

(B) Variable expenses that vary with sales will be apportioned on the basis of Sales ratio/weighted sales ratio.

T3 orurd / WIRd fahT Siurd & SR W et & w1y firg 819 ara uRad=ia o o fauiford fasan

el D)

(C) Basis of apportionment for all fixed expenses is time ratio / weighted time ratio

Tt Freifva @l & fore SR &1 99y Siurd / WIRd THg SuTd §

(D) Expenses that are explicitly related to pre- or post-incorporation period will be apportioned on the basis of
allocation to post-incorporation period only.

I S WY T Y gd- 1 d1e-FTE Safl & Yefiid §, & Fad A & a1g 31 orafd & fag sides &
SYR TR fHTRSd fobam S|

CC Ltd. was formed on 1 October 2015 to acquire the business of Best Friends & Co. with effect from 1 April ©)
2016. When the company’s first accounts were prepared on 31 March 2017, the following were noted:

(i) Sales for the year Rs.2,40,000

(ii) Sales in April, May, July and August were only 50% of the annual average.
(iii) Sales in November, December and March were twice the annual average.
Compute the weighted sales ratio.

cC fAfts &1 713 I B & HU BT T 1 30T 2016 T YU T § U = & AT 1 fagaR
2015 I {51 7T UT| STE HUT BT UG JIaT 31 HIE 2017 BT dIR fooar mar o1 a Fafafed & e & @
T

(i) T & P 71 f9BT Rs.2,40,000
(i) 30, TS, S 3R R | e} anfifer ofira &1 rat 50% ot
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(i) TR, TeTR 3R o & foept a1fifes sfrerd & & 7om ot
TR foht SFUTT &1 IO 1 |

(A)1:5
(B)2:9
©)3:7

D)3:5

From the following particulars, compute the Net Profit available to determine the remuneration to a
full-time director of a company.

The P & L Afc of the company showed a net profit of Rs.10,00,000 after taking into account the
following items:

mmmmm,mmqmﬁammﬁmwmm
% ToIC 3oy ey oH T 0T HT| SOl & ol Td Fie W A fAeiaiEa awgat
@ U # I@A §T 10,00,000 T H e @ o o i

[} Depreciation (including special depreciation of Rs.10,000) :  Rs.25,000
] Provision for Income Tax: Fs.50,000
i} Donation to Political Parties: Rs.10,000
v} Ex-gratia payment to a worker: Rs.5,000
v) Capital Profit on sale of Assets: Rs.3,000
B
i) FEAEI (10,000 304 & TG99 FATAGE Higd) :  Rs.25,000 (B)
ii) R, & AT wan: Re.50,000
i) T gl & e g Rs.10,000
iv) T HREA F TR Rs.5,000
v it Fr fadr o gt o Re.3,000
(A) Rs.10,68,000
(B) Rs.10,62,000
(C) Rs.10,65,000
(D) Rs.10,77,000
Material cost is Rs. 12, Sale price Rs. 15, Labour Rs. 5, Electricity Rs. 2 per unit. The contribution will be
Il Y AT 12 FUR, faeht He 15 30, 4 5 U, faeTelt 2 ¥ ufd gfie § 1 aTeE g
(A)Rs. 4
B
(B)Rs.(-) 4 (B)
(C)Rs. 3
(D)Rs. (-) 2
Determine contribution if sales is Rs. 2,50,000 and P/V ratio is 30%
e faepY 2,50,000 FUA § 3R F/ At SrguTd 30% ¢ A AT Fefid &% -
(A) Rs. 75000
A
(B) Rs. 85000 (A)
(C) Rs. 105000
(D) Rs. 25000
If break-even number of units are 200 and fixed cost is Rs. 58000 then contribution margin per unit will be — B)

P 3 3HISTT B TWAT 200 & 3R VIR ANTT 58000 T T U 3PTS TRTGH HIFSH B
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(A) 2900
(B) 290
(C) 11600
(D) 116

If contribution margin is Rs. 800/- per unit and break-even per unit is Rs. 50/- then fixed cost is —

Ife; 3G BT 3R HIfSH 800 TUA Ul 3T © 3R 5 33 50 ST U TS © I A AN & -

(A) Rs. 40,000
(B) Rs. 160000
(C) Rs. 35000
(D) Rs. 80000

What will be the BEP if P/V Ratio is 40% and Fixed cost is Rs. 60,000/-

BEP &7 R 3R Ut/ Y 31UTd 40% & 3R FAf%d @1Td 60,000 390 3 :

(A) Rs. 2,00,000
(B) Rs. 1,50,000
(C) Rs. 3,00,000
(D) Rs. 2,50,000

If a company issues bonus shares, the debt-equity ratio will -

IS HIg HUT I VTR SR et 7, A BUI-SfB U

(A) be affected
gHIfdd grm

(B) be unaffected

STHIfad T

(C) be Improved
JAd BT

(D) not change

Quick Asset do not include-
R wufty & =i el g

(A) Govt. bonds
CIS)

(B) Advance for supplies

3Mgf &

(C) Book debts
I S

(D) Inventories

A shopkeeper makes 14% profit by selling a cycle at Rs. 2850/-. What will be the sell price if he wants to make

8% profit —

A)

®)

©

D)

®)



TS gHIFER 2850 ITY B T WISfhd B Al b 14% ATH AT ¢ | TS T8 8% TTH HHAT 18T § ot
3 Trsfrdt fpan & S gt

(A) Rs. 2500
(B) Rs. 2700
(C) Rs. 2850
(D) Rs. 2600

Operating performance is measured by —
SHTORTET TR GIRT AT STl §

(A) Margin on sales
forept oR HIfoi

202 238 D
(B) Asset turnover (D)

LSCAERIEN

(C) ROE
(D) ROTA

ABC has 8% return on total assets and net profit margin of 5%. If total assets are Rs. 3,00,000 what are its sales-

AB%ﬁwmﬁrw 8% Rt 3R 5% T Y ATH AT 81 3R Hof HUR 3,00,000 IU ¢ A 3TBT &ept
Hl&:

(A) Rs. 480000
202 239 (A)

(B) Rs. 300000
(C) Rs. 130000

(D) Rs. 490000

P/V ratio 20%, sales Rs. 5,00,000 . contribution will be —
/&t srgaTd 20%, faht 5,00,000 TTA § 1 ARTET BT

(A) 1000000

202 240 (B) 100000 (B)
(C) 1000
(D) 100

202 241 If total cost of 25 units are Rs. 2500 and cost of 30 units are Rs. 3000. Then variable cost per unit will be — (A)

%rmzs THISTT I HA AT 2500 FUY 8 3R 30 SHISTT BI FA AT 3000 T B, R Ul 518 =R AT
(1;) 100

(B) 1000

(C) 28

(D) 67



The return on investment is calculated as —

9% W o & & A AT B A1 §

(A) Net profit before interest,tax and dividend /capital employed

T, R AR AR/ Fafrd golt @ ugd g ad

202 242 (B) Net profit after interest, tax and dividend / shareholders fund (A)
T, R AR AU/ AIRYRS (Y &F S8 e aH

(C) Net profit/no of equity shares
S ATH/ 3BT R B AT

(D) Return on investment/net profit ratio

I IR @MY/ Y Y SFUTd

Acid test ratio should normally be —
RIS UKEUT SUTd AHRIG: ST 918 :
(A)2:1

202 243 B) 11 (B)

©) 122
(D) 2:2

Equation for debt-equity ratio is —

HU-3fE 3rgurd & forg gHieRu R -

(A) Long term debt / equity capital
BUT/

202 244 (B) Liquid asset/current liability A)
R YRR/ Ffwr e

(C) Current assets/ current liabilities
1 YUl / 31 i

(D) Net profit / net sales

TS A / Y5 fospt

Change in current assets results in working capital —
Frfefta ot & Hieier uRwiufwat & uftomy & seara:
(A) Decrease
202 245 (B) Increase (A)
(C) No effect
B gUTd Tt
(D) None of thes

T A DI T

202 246 In which of the following methods of depreciation, amount of depreciation always reduce year by year? (A)

T &1 Fafarad fow faft & feogm ikl g o g0 $H 1 9 & -

(A) Written down value method

BRI geu gfa fafdy

(B) The revaluation method
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(C) Machine hour-rate method

AR der-ax fafy
(D) Straight line method

el ¥ fafey

What is BOM under Stores Accounting?
HER A & S d BOM FITF :

(A) Bill of Materials

foret 3ifts

(B) Bill of Maintenance (A)
foa s Hfeg

(C) Board of Management
IS 31

(D) Bin of Materials

fam 31t AR

The stores which have significant value when purchased but rapidly loss their value/ relevance with the lapse of
time and have very little or negligible disposal value. This type of stores falls under which category?

3 HeR oM Blie & T 16! I oY 81T § IR T8 & W1 foa! Sioa/Iudifivar dof § gedt g1 3R
ST e Jou 9gd W 31T 10T §), 39 UPR & HSR HEdTd &

(A) LTAS
(A)
(B) NCS

(C)CS

(D) None of these

T A BIE T

"It is a debt owed to the firm by customers arising from sale of goods or services in ordinary course of business."
It defines:

g TTgh| bl T TR 50T B SiY ST Bl WU Ufeha & SR aegait 3rrar Yarait 3 et § It g
21" 78 gRTRd BRaT R

(A) Accounts receivable

i g1y o

(B) Cash credit

(4)

(C) Accounts payable
I

(D) Bank overdraft

At the time of closing of books of accounts there should letter of confirmation required on bank's letterhead for (A)
the bank balance shown in balance sheet, also one letter of confirmation from the management of company is

required for cash balance shown in balance sheet at the end of the accounting period.

This is required as per the guidelines of :

(A) The Companies (Auditor's Report) Order 2003

HI (CRATIRTE R SMme=T, 2003

(B) The Income Tax Act, 1961
SATHR ST, 1961

(C) Employee's Provident Fund Act
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(D) The Companies Act, 1956

ST HfAFTH, 1956

Which of the following is not an intangible asset?
fofofea o 9 oI, srpd uRuRl 781 & -
(A) Computer equipment

HHYCY FUIDY

(B) Goodwill

(C) Patent

(D) Trade mark

X

In a particular month, X worked for 230.40 hours in total. Overtime hours were 72% less than regular hours.
Overtime hours were paid 60% more than regular hours. If his total salary for the month is Rs.5212.80, what is
rate per overtime hour?

Ue faRI HEH H, X 7 $d 230.40 °¢ H1H fohaT| ffarersd & bc Hafid gel 9 729 &7 | Siarergy del
ﬁﬁuﬁ%ﬁaﬁ@r 60% 3P YFTAT foa 71 IS HEH BT P da 5212.80 Y B dl &2 Ufd 3fazesd
YUCTH G :

(A) Rs.32/hour
32 JUU/ECT

(B) Rs.22.625/hour
22.625 2UU/M™CT

(C) Rs.30/hour
30 PUT/ET

(D) Rs.20/hour
20 ®Uu/dct

Consider following staternents:
(1 Cash discount is recorded in the books in case of credit sales.
(2) Cash discount is recorded in the books in case of cash sales.
(3) Cash discount is recorded in the books when the money 1s actually received’ paid.
“4 Cash discountis not recorded in the boaks.

(A) Only statements (1), (2) & (4) are incorrect
HIA BY (1), (2) 3R (4) TAd &

(B) Only statements (2) & (4) are incorrect
HIA U (2) 3R (4) T &

(C) Only statements (1) & (2) are correct

FHIABY (1) 3R (2) TS &
(D) Only statements (1), (2) & (3) are incorrect
HId HY (1), (2) 3R (3) TAd &

Agency cost consists of:
LERIE UGk R B IR

(A) Binding cost

ISR aITd

(B) Opportunity cost
HIIR ANTd

(C) Structuring cost such as stock option etc.
WS faped Mfe Sreft TRa1 IR |

(A)

(A)

(A)

D)
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(D) All of these

Tt fapen o) &

Mr. X deposits every year Rs.1000, 2000, 3000, 4000 and 5000 at 5% interest p.a. Find the present value.

ot TRT UA a¥ 1000 T, 2000, 3000, 4000 3R 5000 TUY 5% AP ST D1 & TR STHI BT ¢ | TAHH
T YTt DITST:

(A) Rs.15,250
(B) Rs.15,000
(C) Rs.16,041
(D) Rs.17,082

XY Ltd. has current dividend per share of Rs. 5 which has been growing at an annual rate of 5%. The company is
expecting a technological improvement and cost reduction which will increase the growth of dividend to 10%
forever after two years. Compute the value of equity share of XY Ltd. if the required rate of return is 15%.

Xy forftres & ufer SeR e 53U B S 5% B A <R J §¢ X873 | U T debi1eb] GUR 3R AT
B B TR R YT © RO 2 I & a1 FHRM & forw A &t 3 10% I 96 S| Xy s &
ST AR & T BT TUMAT SHITT S AR B &R 15% &

(A) Rs.90.14
(B) Rs.100.374
(C) Rs.94.87
(D) Rs.98.37

Which of the following statement is TRUE:
fFrafifed & 9 3 1y 9d &

(A) As per hedging approach, current assets should be financed from long-term sources.

& IR, IATH Ui et Sfafd & el o faauiiya g ameu|

(B) Trade-off plan, generally, is considered an appropriate financing strategy of working capital.

HTIR-8E TIoHT, 3HTH IR W, HTRIRA Goit o1 e faaisor o o S g1

(C) There is an inverse relationship between the length of operating cycle of a firm and its working capital
requirements.

TP WY & TR Ik Pl TaTs 3R SHD! BRI Yol STagehdlai & e Ueb o0 Gael gl
(D) Higher net working capital leads to higher liquidity and higher profitability.
I Y& SN Uit SR aRadm AR S ATHIGAT BT 3R Sl |

Excessive working capital results in:
3rfes erdefe goft & gRume Fg # 7

(A) Decrease in the profitability of the firm
BH 1 ATHIG H HHI

(B) Unnecessary accumulation of inventories

ol &1 sFaaS Sad

(C) Liberal credit policy

(D) All of these

uff fopey Tl &

Debenture Redemption Reserve (DRR) is created

fEaR e ford (@eReR) CRIZIRICIN

©

®)

®)

D)

©
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(A) by issue of fresh shares

Y R BT SR R

(B) by issue of fresh debentures
ESEENEIIEINERS

(C) out of profits
aHAY

(D) out of sale proceeds of assets.

IEEAREICRE:

At the time of purchase of own debentures, own Debentures Account is to be debited with:
3 fEeRl &t Tlie & wHy, o fEdad @rd # Sfae fovan s =nfee:

(A) cum-interest price

g IS Heg

(B) face value

sifd gea

(C) ex-interest price

qd TSl e

(D) issue price.

YA

ABC Ltd. purchased assets of the book value of Rs. 8,10,000 from another firm. It was agreed that the purchase
price be paid by issuing 15% debentures of Rs.100 each. Find the number of debentures to be issued at a discount
of 10%.

ABC fAfBeE 71 8,10,000 T08 &1 g dog &1 Gufl fplt o0 B § Wi | I8 Wgafd g8 ot for @die g
BT YT UAD 100 3UY & 15% (S & SIRT fosan ST 10% BT g W ARY {6 T8 f$eer o gemn
1A DI

(A) 6,000 debentures
6,000 f&d

(B) 9,000 debentures
9,000

(C) 8,100 debentures
8,100 f&o

(D) 5,480 debentures
5,480

CD Ltd. issued 5,000 12% debentures of Rs.100 each payable at a discount of 10% repayable after 5 years at a
premium of 10%. Compute the loss amount to be written off every year.

D fAAeE A g 100 ¥UY 3iford T &b 5,000 12% FSTRT BT 10% Pt Fe W AR faar o1, Sl 10% b
R R 5 a9t & a1 ufaed g | ufd af 2 - Wra & S1eft 72 g1 ) AR 3} M0 B

(A) Rs.15,000
(B) Rs.10,000
(C) Rs.16,000
(D) Rs.20,000

A firm uses a continuous billing system that results in an average daily receipt of Rs.25 lakhs. It contemplates to
use concentration banking system instead of the current system of centralised billing and collection, thereby it is
estimated that such a system could reduce the collection period of account receivable by 2 days. It is further
estimated that concentration banking would cost Rs.1 lakh annually and 9% can be earned by it on its
investments. It is also estimated that the lock-box system may reduce its overall collection by 4 days. Calculate
the amount to be saved by lock-box system.

T BH AR ST vomeh o1 ST et 8 forie URUmMRa=y 25 dRg S0 1 3id e Wit giat

©

®)

D)

D)
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21 78 Sllasd i 3R g &) IcH1 TorTel & SoTg TbrdT SfehTT Jomeht 1 SuanT #4 & fr fifad
2, TR I8 3raM v T € b 9 aRe &t gumelt 2 et ae U 819 aTd W1 &1 WUE fafd B HH IR
Tt 8 198 HY SAT TR ST ¢ b ThTra sifeh ™1 Y a1 1 aRd 00 1 W ST 3R 39 o
T 9% AT T B} I Thelt 31 TE Ht STHM T T § % - aay Ried 4 o 9 3ram www ¥
B HH IR Jhdl ¢ | Alh-a1a RICH GRT §918 S el A B} IT0MT B3

(A) Rs.10.5 lakhs
(B) Rs.11 lakhs
(C) Rs.9 lakhs
(D) Rs.10 lakhs

Proposed Dividend is classified as:
TRATTAd ATHTT bt Y TR arffepd fopar T &:

(A) Investing activity
(B) Financing activity
(C) Operating activity
KIENIRIRICIRS

(D) cash-equivalent
EEZCNEN

R.5. Ltd. 1s considenng to purchase a Machmne for Rs. 120,000 which is likely to yield the
following furture benefits in the next five years. The machine salvage value Rs.20,000

MR vg s 1,25,000 399 & v v Ao ales w e & o b See
3T T gut # et wiava & ot @ wed e B gargen &1\l fr
Feae de3 20,000 39 &

Year PAT

1 10,000
2 12,000
3 16,000
4 7,000
] 5,000

(A) 16.45%

(B) 14.28%

(C) 15.16%

(D) 15%

XPZ Ltd. is considering the purchase of a machine to replace an existing machine that has a book value of

Rs.1,20,000 and can be sold for Rs.60,000. Cost of new machine is Rs.5,00,000. The salvage value of the old
machine is zero in four years. Assuming 50% tax rate, compute initial cash outflow.

xpz fafiies us Aieer =i & agem & forg a=fiv 3 @i W f3aR o 381 § et gede Ted 1,20,000
IUY B 3R 3 60,000 TG T ST O Yehell § | 715 HRM BT Hed 5,00,000 T 8 | R TR BT Jeaof oo
IR T H X 8 | A A 6 IR B &R 50% ¢, IRMS 7D afgals Bt oA Y

(A) Rs.4,30,000

(B) Rs.5,00,000

(C) Rs.4,60,000

(D) Rs.5,60,000

A firm is considering to buy one of the following two mutually exclusive investment projects:

©

®)

(A)

®)
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Project S: Buy a machine that requires an initial investment outlay of Rs.2,00,000 and with generate CFAT of
Rs.60,000 per year for 5 years.

Project W: Buy a machine that requires an initial investment outlay of Rs.2,50,000 and with generate CFAT of
Rs.54,000 per year for 8 years.

Assume 10% as cost of capital. Calculate the NPV of both the projects. Advice which project should be
undertaken?

TP B FEfiEd & R geafa e aRaierrst & 9t @ Tiied R R a8

Woige s: Te Ut =i Wi, forgest ot Fa=T @mTd 2,00,000 ¥03 & S1R 5 I1@ & T 60,000 F9
Ufd I8 BT CFAT ST B P T |

Hiotae W: T A=A Wi ford o Soardt RaRr %1 2,50,000 Ft STazgerar g SR 8 1d & fTT 54,000
I ufd a9 B CFAT I B & 1Y |

Ul &t AT & =4 H 10% T Aforg | g1 gRaS 18l S NPV &1 0T 1 |

(A) S: Rs.38,090: W: Rs.27,460
(B) S: Rs.27,460 : W: Rs.38,090
(C) S: Rs.31,460 : W: Rs.26,090
(D) S: Rs.28,090 : W: Rs.36,460

X Ltd. launched a new product with 15% cost of capital. Assume the current inflation rate as 4 percent, compute
the real rate of discount to ascertain Cash Flows.

X fAffes A 4ot &t 15% IRTd & 1Y T =191 ScIE di-a o | Hie[a] G $1 &R 4 Uia=Td T aiforg,
I T BT Ul T & o FETpde ot aRafde oR & TT0MET $Y:

(A) 11.05%
(B) 10.75%
(C) 11.21%
(D) 10.57%

Which of the following statements is TRUE:

R I P T HYT 6 B

(A) Capital budgeting decisions should either reckon the inflation factor in cash inflows after taxes as well as in
cost of capital or exclude it completely.

USiNTd §oTe & f0fal &1 a1 ot -t & 91G GERwifd & had B Adc UaTg & I1Y-31 Yol &t anra § oft a1
a3 g O’ @ aTeR X F1feu

(B) Intermediate cash inflows are assumed to be reinvested at cost of capital under NPV method.

G T4l uaTg ® NPV fafi & dgd Uolt anTd W g o fasar s g

(C) CFAT will be deflated by inflation rate to determine real CFAT

IRdfads CFAT RUffRd B & fTT CFAT & GaRwifd &1 &R I ST e

(D) All of these

it fapeu 9t &

A project costing Rs.28,00,000 is expected to produce annual net cash benefits (CFAT) of Rs.4,00,000 over a
period of 15 years. Determine IRR through P.B. period.

28,00,000 ¥ ANTC aTel Teh GRATSHT ¥ 15 a6 1 3afd T 4,00,000 ST BT AP G THG ATH (CFAT)
BT IATET B B MM g | st (P.B) 3rafey & Aread F [RR Feila 3|

(A) 0.1528
(B) 0.1482

(C)0.1428

D)

D)

©
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(D) 0.1501

A project costing Rs.28,00,000 is expected to produce annual net cash benefits (CFAT) of Rs.4,00,000 over a
period of 15 years. Determine IRR through direct estimation? Use interpolation.

28,00,000 ¥ AT aTelt Teh URTISHT ¥ 15 a8 BT 3afer T 4,00,000 T BT AP Yk ThS ATH (CFAT)
BT IAE PR B 3T & | UFe] 3THH P AeqH J IRR FeiRd B2 iR &1 ST HY |

(A) 11%

(B) 11.5%

(©) 12%

(D) 12.5%

From the following details, ascertain the average amount of working capital requirement of
XY Ld.

FeaeTET faaent &, Xy @ & sunfe 99 39em & 3eT O & 907 S0

Particulars Average period of credit Estimate for 1st Year
Purchase of Materials 8 weeks 39.00.000

Wages Overheads 1 ¥ weeks 20,80.000

Rent, Rates 3 months 1,20.000

Salaries 1 month 6.00.000

Other Overheads 4 months 0.00,000

Sales Cash 3,50,000

Credit Sales 3 months 75,00,000

Average Amount of Stocks 450,000

and WIP.

(A) Rs.11,15,500
(B) Rs.10,40,700
(C) Rs.12,15,000

(D) Rs.11,85,000

From the following information, calculate the working capital required:

fowet SRl @ smaeas SRl doir i e ST

i) Average amount lecked up in stocks: {in Rs.)
Stock of stores, materials 13,000
Stock of WLILP. 17,000
Stock of finished Goods 10,000
ii) Average credit given:
Local sales: 2 weeks' credit 52,000
Outstation: 8 weeks’ credit 2,08,000
Time available for payment:
For purchases: 6weeks 1,04,000
For wages : 1 week 3,12,000

Add: 10% for contingencies.

(A) Rs.81,400
(B) Rs.90,600
(C) Rs.87,400

(D) Rs.83,600

®)

D)

(A)

D)
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PQR sells its products at a Gross Profit of 20% of sales. From the followmg information
calculate the Total Current Assets on cash-cost basis:

PQR H%T 309G T 20% FashT &1 Forel o187 W dach pIfoafoiga Faemi & wwar
Aed & FN W Fof JOA AT A0 H

Sales (at 2 months credits): Rs.60,00,000
Raw Material: Rs.18,00,000
Wages (2 weeks arrears): Rs.1,08,000
Manufacturing expenses (one month’s arrears): Rs.18.00,000
Administration expenses (fwo mornths arrears): Rs.9,60.000
Sales Promotion expenses (payable 6 months in advance): | Rs.4,80,000

The firm enjoys two months’ credit from the suppliers and maintains one month stock of raw
materials and 15 days stock of finished goods. Cash balance 1s Rs.1,50.000. Consider 10%
margin.

FH T AR AH H & AW # Hiee 9od 6l & AN 9% Fe AT @ U M
w1 T 3N SOR 7 a7 15 BT @7 T @ ] 10% Al W fAeR &1 799E
Y TR 1,50,000 &1

(A) Rs.24,60,000
(B) Rs.21,40,000
(C) Rs.19,40,000

(D) Rs.20,60,000

The share capital of a company consists of 50,000 equity shares of Rs.10 each and 5,000 preference shares of
Rs.100 each, fully called up. Besides, its security Premium account shows a balance on Rs.10,000 and General
Reserve of Rs.5,00,000. The company decides to buy-back 10,000 equity shares of Rs.12 each. For this purpose,
it utilises the security premium in full and General Reserve Account to the extent necessary what will be the
Journal Entry for transfer of nominal amount of equity shares bought-back to Capital Redemption Reserve
Account.

ot U= B AR Uit H 10 TUY & 50,000 3B R B & 3R UA® P 7T 5,000 FUA F a7 ;R

B 8, For O oRe 0 I T B | U U 1 AR Yol H U 10 FUY & 50,000 3T TR B & SR

100 ¥ YA & 5,000 ST R | 3HP SFATAT, SHDb! FR& R Wil 10,000 F9A HT Y AR

feamar & 3R 5,00,000 TUA P AT Rord &1 U 12 T Uk TR & 10,000 B IR We o7 e

Fl ¢ | 39 TS & for, 98 ot GR& WP &1 1 SUGRT FHXclt 8 SR STt T adh o-Rd Rord @t

%msg%ym%lm.wm IOt & AT Sfédl AT & FXATRT & g A
cl 1 :

(A)

General Reserve Afc Dr. 1,00,000

To Capital Redemption Resarve Afc 1,00,000

B)
General Reserve Afc Dr. 1,20,000
To Equity shareholders Afc 1,20,000
©
Capital Redemption Reserve A/fc Dr. 1,20,000
To Equity shareholders A/c 1,20,000
(D)
Capital Redemption Reserve Afc Dr. 1,00,000
To General Reserve Afc 1,00,000

(A)

©
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Akash Ltd. issued 10,000 8% redeemable Preference Shares of Rs.100 each at Par on luly 1, 2010,
redeemable at the option of the company on or after 30 June 2016 partly or fully.
Redemptions were made out of profits as:

e foIfAEs & 1 Fems 2010 1 100 T9F & TEAra W 10,000, 8% wioeT Aew
el F1 s Bem S Sl & fEed 9T 30 S 2016 & R W 9 w9 od
afegfd der o) arer & Revye # a=mn oo dg B R @ gar aame

i) 2,000shares on 30 June 2016 at Par
30 EC 2016 ®T v # 2,000 9RF

ii} 2,500 shares on 31 December 2016 at 10% premium.

31 AT 2016 F 10% WA 9T 2,500 RF

i} Remaining shares on 30 June 2017 at a premium of 5% making fresh issue of 4,000 equity shares
of Rs.100 each at a premium of 10%.

5% PIFT & @y 30 S 2017 & 99 9 10% F DfFETH 97 100 F97 F 4.000
sfaFadt IRl & A e aan g
On June 30, 2017, the company also decided to capitalize 50% of the Capital Redemption Reserve by

issulng Bonus Shares of Rs.10 each fully paid at a premium of Rs.2 per share.
Ascertain the amount of Bonus.

30 S5 2017 &, &O F 9fy 9w 2 e & dfEs o gl me O e R e o
TR F Fe R S W Siice REEne Ned F 50% @ s @ A T o
Bl

(A) Rs.6,00,000
(B) Rs.4,50,000
(C) Rs.3,00,000

(D) Rs.5,00,000

ABCLtd. emplovs a manager who is entitled to a salary of Fs.2,40,000 per month and in additien
to & commission of 2% of the nat profit of the company befora such salarv and commission.
The P&L Afc forthe company’s financisl year anding 31.3.2017 is as follows:

ABC Rffis s weus w7 24000050 0 77 499 W ISR vEE 44T § AT 5% W E
 AEE AT O ¥ OEpe waw w1 A W W 2% SR & AR waaE w0 gwen £
220175 T B A o Y e ad ¥ v v o ol v Bemmem

E2|

Bs.In 000 Bs.In *000
To (Genaral axpansas 25.20 | By Gross Profit 2.64.00
To Staff Salaries 54,80 | By Subsidy 10,00
To exgratia payment 1,60 | By profit on sales of machinery 16,00

{diffzrancs betwean prics
Teo Donations 4,00 | raglisad and WD)
To Diapraciation 22,00
To Manager's salary 28,80
To commission to Manager 280
{on account)
To Incoma Tax 54,00
To Balanez Clo 06,80
2,90.000 2,890,000

The amount realised on sale of machinery was Bs 64 lakhs whils the costwas Rs 60 lakhs. The company
has provided depraciation as par Schaduls XIV.

The effactive capitsl of a company: Bs. 50 croras

Caleulats the commission STILL TO BE PAYBALE to thas Manager:

AT 7 & 9T HEEH g3 A 60 W I of FEfn AW 60 WW F9E of Fur &
AT XIV & AT AraEE WA W FIFEE i oTA wEuE F 8 e e &
T w4

(A) Rs.80,000

(B) Rs.8,00,000

(C) Rs.3,60,000

(D) Rs.36,000

Profit on the reissue of forfeited shares are transferred to —
S R P GHGEU TR AT B R foar Sirar g

(A) Share capital account

R Yot @rar o

(A)

®)
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(B) Capital reserves
Uit HeR |
(C) Profit and loss account

Y 3R g1 @rar #

(D) General account
I @l o

If a share of Rs.100 issued at a premium of Rs.10, on which Rs.90 (including premium) have been called and
Rs.70 (including premium) paid is forfeited, the capital A/c is to be debited by:

fE 100 TTA & el TR BT 10 T9 I T TR =01 31 8 o TR 90 ¥4 (hfergw afea) 1 7 &1 18
8 SR YA BT 1T 70 T0R (Foresl ffraw = ©) Sfed R T ST &, a0 YoivTa @rd & fasat i
3fe o e

(A) Rs.90

(B) Rs.70

(C) Rs.80

(D) Rs.110

On 31% March, 2012, a Nationalized Bank discounted the following bill:
31 AT 2012 F v TS I o faratataa G oS B

Date of Bill Term of Bill Discounted Value of Bill

fawr &1 ol famr &1 aflr | oe faer &1 77

17 January 2012 4 months | @12% p.a. Rs.10,95,000

17 Fetadr 2012 4 FERY @12% =il 10,95,000
B

Discounted amount will be:

(A) Rs.24,000
(B) Rs.36,000
(C) Rs.18,000

(D) Rs.28,000

Fringe Benefit Tax has been omitted from

fibe affthe ¢ 4 BT T %:

(A) FY 2010-11
fag o 2010-11

(B) Assessment Year 2010-11
TS Y 2010-11

(C) FY 2011-12
fagad 2011-12

(D) Assessment Year 2009-10
e ay 2009-10

Time limit for payment of income tax on distributed income (DDT) is
faafka sma (S W maR & YIaH &1 91T W1 |

(A) Within 14 days from the date of distribution or payment of such income whichever is earlier

ferRor a1 Tt 3119 BT YT PR b1 ARG {14 faT b HieR off 4t ugl 8

(B) Within 28 days from the date of distribution or payment of such income whichever is earlier

fqaROT a1 T 3T BT YA HRA 1 dRIG 4 28 fal o R ot f ugad &

©

©

(A)

(A)



(C) Within 42 days from the date of distribution or payment of such income whichever is earlier

TR a1 Uft ST &1 YT H=A Bt aRE W 42 el & iR o i oga 8

(D) Within 90 days from the date of distribution or payment of such income whichever is earlier

feRoT a1 U 31T o7 YA HRA B arig 9 90 faf & iR ot +ft ugar gt

ICDS IX stands for

ICDS IX g

(A) Borrowing Cost
JYR ANId

202 283 (B) Inventories (A)
(C) Accounting Policies

(D) Valuation of Assets

3MIRFAT BT HedichT

Condition of payment of advance tax when such amount exceeds by
T R & YA Bt 2t o Tt iRy J 3t B el §

(A) Rs. 10000

202 284 A
(B) Rs. 7500 (&)

(C) Rs.5000

(D) Rs. 100000

Which one of the following is true about Agreement by a Minor?

froffed o 9 oiar ue, ol sraors gRT e TTU sreiy & Sey B W 8

(A) Agreement by minor is void ab initio.

TIPS GRT A HRY A & S BT g

202 285 (B) Agreement by minor is valid in law (A)
AT GRT 38 T H dY gaT g

(C) Agreement by minor can be ratified on attaining majority

3TTED GRT 3ERd Dl ITD IID B &b J1¢ U g b o Tbdl &

(D) Agreement beneficial to minor is not valid

T & FIT AU SeXd 3 T8 g &

Utilization order for credit of IGST under GST is

GST & T8d IGST & hige & oI STARIATHA S

(A) IGST, CGST, SGST/UTGST

202 286 A
(B) CGST, SGST/UTGST, IGST (@A)

(C) SGST/UTGST, IGST, CGST,

(D) SGST/UTGST, CGST, IGST

202 287 Anti-Profiteering Clause under GST is included (A)

GST % dgd eI MhTS e aaiist QMivd 8

(A) In order to ensure that business passes on the benefit of reduced tax incidence on goods or services or both to
the consumers



202

202

202

202

288

289

290

291

w%@gmﬁ%ﬁﬁsWﬁ@ﬁﬂaﬁaﬁaﬁaﬁaﬁaﬁmﬁmﬁwwaﬂaﬁmﬁ$wu
il

(B) In order to ensure that the traders do not incur loss

Tg GRd w1 & for s amaial &t Jeear et Sor =y

(C) In order to ensure that the business is not burdened with higher tax

T8 YT HA & e i IR S R & Ay S g 8
(D) None of these

T Y BIS T

Fund under GST means

GST & T5d b BT 31 & :

(A) Consumer Welfare Fund
SUHIHIT HeT0 I

(B) Trader Welfare Fund (A)
YR BT DY

(C) Social Welfare Fund
FHTS! BTl Y

(D) Senior Citizen Welfare Fund
TR e 47e

Input Tax Credit under GST is covered under Section
GST & d8d YT oo hiSc I ¥ dgd R fha T g
(A)2(63)

(B)2(62) (A)

(C) 2(65)
(D) 2(66)

Under GST CPIN is
GST & dgd, CPIN g

(A) Common Portal Identification number

A
(B) Computer Portal Identification number (@A)

(C) Common Product Identification number
(D) Computerized Personal Identification number

Example of fiduciary relationship:

S eR afdd & TeeY BT ITexT:

(A) Doctor and Patient
SiaeR SR Ih

(B) Cg%(;itor and Debtor (A)
UM 3R BUIGTAr

(C) Landlord and Tenant

T HIfeld 3R fdRIgR

(D) Husband and Wife
afd 3R Telt



202

202

202

202

202

292

293

294

295

296

One Person Company is defined under ----------- of Companies Act 2013 (A)

HUHT AT 2013 Bt & Siafd T gt Ut ! TR fpar T g -

(A) Section 2(62)
(B) Section 2(63)
(C) Section 2(64)
(D) Section 2(65)

As per the provisions of Companies Act, the individual Auditors are to be compulsorily rotated every----- years

mﬂm&ﬁhﬁm$uﬁwﬁ$mﬂ,mé@uﬁaﬁﬁ&rﬁaﬁwﬁm_aﬁﬁmﬁm
ST |

A)S5
(A)
(B) 10
o3
(D)2
Maximum number of members for Private Companies is
foft Sufal & fore wewdl 1 sfiear sem - g
(A) 200
A

(B) 50 (A)
(C) 250
(D) 500
What is NFRA as given in Companies Act 2013?
U fAfTH 2013 & STHR NFRA 82
(A) National Financial Reporting Authority

N . . (A)
(B) Non- Financial Reporting Authority
(C) National Financial Reporting Agency
(D) National Fraud Reporting Authority
Maximum number of Companies, a person can become Director is
HUI B SifHaH T & oo e Jafda e o9 9o gl
(A) 20

A

B) 15 ®)
© 10

(D) 25



202

202

202

202

297

298

299

300

DSC = (A)

(A) Digital Signature Certificate
(B) Decoded Signature Certificate
(C) Derivative Signature Certificate

(D) None of these

T A DI T

Filing a copy of winding up petition made with the registrar is to be made mandatorily within
IRfET oy T ) Ue Ui R Fu - oAl A gifaa sen sfari B
(A) 60 days

(B) 90 days (A)

(C) 45 days
(D) 15 days

The rate of minimum Alternative Tax for unit located in International Financial Services Centre is:

SieRgia ot e g R e 3 R =g Ao R B a3

(A)0.185
(B) 0.09 (A)
(©)0.3

(D) None of these

EREREZ R

Technical knowhow is
Thieh! TFPRI & :

(A) An intangible asset
Th

B) %\?tfangib}e asset (A)
G

(C) A current asset

U A1 Hafd

(D) None of these

EREREZ RG]



